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00000000000 VariabilityDDOO0ODODOD0OODO0OODOODODOODOOD 400000

0000D (Inter-Quartile Range; IQR) 0000000000000 O0O0O0OOO0OO0O0O0DOOOOOOOOOOOOO
0000000000000 bO00bO00bO0O0bO0O0DO 1/4,24,3400000000000 (quartile)d O
001400000000034000000000000000000 25%000000000000000
00 7%5%000000000000000240000000000000000000000O0DOOO0OOO
gooooboooboooooooooooobooobooooooooobooboooboobooobobooobObooooo
gobobooooooooobooooobooooooooOoboOoOoOoOoOoOoOo0oOoOoboOoOobObo0oOobboooDbboooon
gobobooooooooocooooooooooOob0oOoOoOOoOobOO0OUobObObOOobObO0OOobbOOODbboOon
O0000RODO fivenumQ O0O00O00O00O0O0000C0O0O00O0OMOO0OOOO0O0OOO0OOOOOOOOO
000000 Q1,Q2,Qa0 U000l 0DD000000O0O0DO0LO00O000oO0UoO0DDODoOO
0000000000000000D00000S0%0000000000000000000O00D0O000
ooboooooo

90 0pO0000000000000000 X000 X000O00O00000000000000000 X000000 X000000oo0o0
00000000000000000000000000000000000000000000 XC00000000000000000
000000000 XO0O00000o0o00oo0

200000000000 0000000000000000000000000000000000000000000000000000
goob0o0O00O0D0O0O00OO0O0O0O00O0O000O00C0O00000C0O0O0O0O0OO0OOO0DOOO0DOOO0OOO0OOO0COO0OCOOO00O000O0
00o00o0o0o0o00o0o0oO00oooooooo



00D00D (Semilnter-Quartile Range; SIQR) 0000000000000 0O0O0OO0OO0O0OOO0O0OOOOOOOO
gobooobobooooboooobooooooooooooooooooooooobodoobbooooboooon
0000000000000 000D000000000IQRO SIQROUODODODOODOODDOOOOOODOOOO
gobooobooooooooboboooo

00 (variance) 00000000 OOOOO0OOOOOOOOOOOOOOOOODOOOOOOOOOOOOOOO
00o00oo0o000ooo0o0o0oo0o0ooo0o0ooooooooonoovoo

> (X — p)?

V =
N

0000000000 n0000000000N-1000000000 (unbiased varianc€) 000000
0o000o0oo0o000o0o00oo000oo0o000o0o000o0o0o00o0n VOO

O000OROOvarQOOOOOMO

0000 (standard deviation) O OO0OO0O0OO0O0O00O0OOOO0OO0OOOOOOOOO0O0OOODOOOOOOOOOOOO
0000000000000 D00000000000000RO0 sdQ)000000%20000000000
0000Mearr2SD@®0 0000000 95%00000000000000000000000000

RemdrO00O0O0O0OO00O0O0O0OODOOOOOOOOOOOOODOOODOOOOOODOOOUOODOOOODOOOO
ooboooobooooboooooboooo

25 00O

oobooooooooooooooooooooooooooooooooooooooooooOoOooOO00000
goboooobooooooooooboooooooobooooooooboooooooboooooOoooDbboooobooo
oobooooboooo

gobooooooooooooooboboboobooOoboOoboOobOobOOobOobOobObOOoDOOObObObOObOOoOo
gobbooobooooooooooooo

O0D000OORemdrOOUOUOOOODOOOODOOODOOOODODOOODOODOOODOODOODOD
MASSOOOOOUOO0OOOO0OOOsurveyDOODOOODOOODOOOOD0OOOROODOOOOOODOOO[ODO]
0000000000l 000000000000000000OMASSOO0O0OO [DOO0]O0[00O000O
0000]o 0000000000000 0o00U00o00o0o0oDO0l00000D000O0DOo0DD0oooOUDOO
MASSOOUOOODOODO0ODODO0ODOO0ODOOO0O surveyOODOOODODOO[OK] DODODDODODOODOO

‘survey’ 000000000000 0O0OOOODO 23700000000000000000000Sex0000O0OO
OMwr.HndDODOOOOO0ODOOCOOO0O0O0OOOemOOOO0OD0OC0ON.EHndO0ODOOOOO0OOOOOO00O0
O0OcmO0O0O000MW.AInd0 0000000 Fold0 000000000000 00000000000B0000
000000000 3000000000 Pulsed 000000000 Clap0 0000000000 O0OOOO
000000000000 00000000 3000000000 Exer0000000D00O0OOO0ODOOOOOO 30
O0000000MmsSmokeD 00000000 DOOOOOO0ODODODOOOOOOOODOOOOOOOO 40000
O0000MHeightODO00OcmOOCO0O0O0O0@MM.IDO0O0OCOO0O000O0OOOODOOODOOOOOOOODO
gobooobobOemO mOOOOO0ODOOOO0OOOOMAge0 00000000 OOOOOOO

2l0ppo000000000000000000000OOOO

*220Qp000000000000000000000000000000000000000000000000000000000000
goooo0O0o0b0O0O0O000O00000000O0

*2200p000002SDO00O00000000097.50000000 1.959964.000000 2000000 2000000000000
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gobodooboooooooooobooooboooobooboooon

00000 O0O0O0o0ooOoOOOOO0OO0O0O0000000O0oOobObObOObObOO0O0O0000oOOoOooooOOoDODOODnD Xo
O00OO0ORDOO barplot(tableX)) DO OOOOO

RemdrOO0OO surveyO OO OOO0ODOOO0OO0O0OO0OOO0mMOUOODOOODODOOODOODOODODOO
Smoke 000000000000 OOOOOOOOOOO

00000000 OO0O000O0oO000oOo00oO0oO0OO00O0OoOROO

fx <- table(X)
barplot(matrix(fx,NROW(£fx)) ,beside=F)

O000000RemdrOOO0OOOO
0000 000000 100%000000000000000000000O00O00DO0OOROO

px <- table(X)/NROW(X)
barplot(matrix(pc,NROW(pc)) ,horiz=T,beside=F)

0000000000 Remdro0OOoOooOO

O0000000oo0o0o0oooUoO0o0 0000 100%00000000o0ooo0o0ooooooUoOn
0000000000000 00000000000000O00O00O00O000DO000000RDOO pieOO
oooood

RemdrO 0000000000 O0OO0O0O0OOOsurvey0OOODODOOOUOOODDOOOO0OOOOO Smoke
ooboooooooooooooooooobooooboboOoooOobooobbooobboooobooooboOoo

gobooooboocooobooooooboobooooo

000000 0O0O0O0000oo0o00o0ooDDoooOO0oO0O0OO0000000D0D0O0OD0D0O0O0OROO hist() OOO
0000000000000 000o0o0O0O00oon “Sturges’"0000000O0OO0OOOOOOOOOO
goooobobooooobbtbooobbbOoo0oobobObUuoooUoboDbbOoUoUoUbObbbooU o
goooooooOOooooooOo0obO0oo00obO0obO0obOO0oDODO0obOD0@oobO0obOO0obobOoDbDOoDOoo
right=FALSE0 0000000000000 ODOOROOOOODODO (Age)JDDDOODODDODODOODDDOOO
hist(survey$Age) 00 [J10000 20000000 1000000000000 O0OOO0OOOOOOOOOO
0000 hist(survey$Age, breaks=1:8*10, right=FALSE) 00O 00O

RemdrOO0O0OO0OO0O0O0O0OO0OOO0ODOOOOOsurveyD 0DOOODOOOOOO Aged0OO0ODDOOO
00000000000 00O0000000D0ODO0DO00oO0OooO70000000 1675000000
Ooo0o0o0oooooooooooom

00000000 Ooooooooobobobooodooooooooboboboboboooooooooooooboooooo
O00D0MMRODO qagnorm() DO ODO0DOODOO0ODsurveyl0ODODOODOODDO (Pulse)000ODOO
00000000000 qggnorm(survey$Pulse) 0O 00O

RemdrO0O0000000QQUUDUIOUDODOOOsuvey OODOODOOOOO AgedDOO0DDOO
000000000000 0000O0OPulsed00000O0OOOOO0OOODOOODODOOOOODODODO
ogobooooooooooo

0000 (stemandleafplot) DO0OODO0OO0O0O0D0OOO0OS000001000000000000000O000OO
000000000000 0oU00o0o0O0D0O00O00O00000O0O00DO00O000RO0 stemQOODOOO
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00000000000000000000000 stem(survey$Pulse) D000

[RcmerDDDDDDDDDDDDDDDDD ]

0000 (boxandwhiskerplot)y OO0O0O0O0OOOOOOOO00O0O0O0O0O0O0O00O0OO0OOOOOOOOOOOOOOOO
000Do000ooo00ooooooooDooooooooooooooooonD 150000000000000
Jooo0oooobooodboboo0obOboooboooobooobObOddec 0o bOoOooDboDboOoono
goobooboooboboodbbuooobbooobooobobUooobboobDbbooUbbooobbouoo
O00DO0O0OOROD boxplotQ OO ODODDDODDOODDOsurveyDODOODDOOODO (Smoke) 000 OO (Pulse)
00000000000 boxplot(survey$Pulse ~ survey$Smoke) OO 00

~
Remdr D00 0000000000000 OOsurveyOOOOOOOOOODOOODDOODOOODODOO

000000000 Pulsed000[000D0O0OD]0000000O0O0OO0O0OOOUOOOOOOODOO
000000000 Smoke OO OO [OK] OOODOODOOODOOODOOODOOUOOOOODOO [OK] O
tbooooooboooboooooobobooobooooobooboooobUoboOoOobooOoOoOO0obOoOooboooo
gobooooboobooooboooboodsurveyOOOOoOOoOoooOOoOooOoOoOoOoOOoOobDOOOO
00000000000000MO00000 SmekelDOOOOOOODO Pulsed0000O00O00O0O
ooooobooooOo0o0oOoOoOoOonoooOoooooooooooooo

%
00000000 0DO0U00O0ooOOoOoOO0U00D0DOOO0O00000OO0OCOO000D0ODOOCOOO000OOOOOOOOn
0000000000000 oooooooooooooooooooooOoOO
0000o0o0o000ooo0U00OoOoOoU0U00DOOU000OO0O0O0U00DODO0OU0U0ODOOUOORDOO starsO
0O000o0o0o000ooO0o00DOO0OOstarsQO0O00O00OO0O0OO0OOOOOODOOOODODOOOODOOO
0000000000000 dOdplotrix000000 fmsbOOOOODODODODODODODODODOODODOODOOOO
OO0 CRANODOODODOUODOODODODODDOOODOODDOODOinstall.packages("plotrix™) O
install.packages("fmsb") 0000000000000 0OOODOODOOOOOlibrary(fmsb) 00O OO
example(radarchart) 000000000 O0OO0ORemdrO0O0O0O0O0O
000 (scatterplot)y OO0 0D0000000000O0OO0OO0OOOODODODOOOOCOCOOOORDOO plotOOODDOO
0000000000000 000O00DOOdd plotQO0 pchOO00OO0O0ODOOOOOOOpPpointsO O
o00oU0O0OQoU0DOO00QU0DOCoOO00oOCOU0DOOU0O0OCOO0C0OO0O0d symbolsOQ ODOOOOOOOOO
o00o0o0ooooO000oOoOoQoO0o0O0DoO0OO0U000OoOOO000O0O0n matplotO 000 matpoints() O
0000000000000 000000000000 pairsQ 0000000 OOOOODODOOOOOO
00000000000 textQOOOD0D0OO0ODOOODODOOODOODOOOOOOOODOOOOOOOOOOO
identifyQ 0 000000survey 000 0O0ORODDODODOODOOOOODOODOO (Age)d00 000 (Height)
0000000000000 00O0plot(Height ~ Age, data=survey) D0 0OOO0OO

RemdrO0 0D 0000000000000 0O0OO0O0OO0OOO0O0DO0O0OOOOOOOsurveyOooooQ
0000000000000000000000000Xx00000 AgelyOdO0000 Height OO OO
0000000000000 0[00000DO0]000O000D00O0O0O0O0D0OL0ODO SexOD0OMOO
00000o00oo0oooOooooOooOoo oKl oboooooobooboobooLooDooDOo
ooooooooooooboooOo0oOO0oO0OxoooyObOoOOOOOOOOOOO@mMOOOOOOO
oobooooooooooooooo0oooooooooooooooobooOo0oobooOooooboOooDbooo
oobooooooooooo

J

12



3 DOhOoOooobooon

gobodooboooooooobooboooobooooobooooooooboooobooooooooooooan
oobooooooooooooooooooooooooooooooooooooooooooOoOO0O000000
goboooobooooooooooboooooooobooooooooboooooooboooooOoooDbboooobooo
0000000000 0ORothmand O Greenland 00 0000000000000 0O0OO0OO0O0OOOUOOOOOO
OpO000D0O0*0000000000000000000O0O0O

goboooobooooooooooooooooboboooooboOoooboboooobobooooboobOobOoboOoOoOoobooOoOoo
goboooboobooooboooobooooboooooboooobooooooooooobooooooboobooOooobooOoon
oobooooooooooooooooooooooooooooooooooOoOoooOoOOOOOOOO000O0
OOpbOOCOCOOOOOOOOOOOOOO0OOOOOOOOOOOOCOOOOOOOOOOOOOOOOOOOOOO0
gooboooobooo pobbO0OOobOOOO0DOOOOODOOOOOOOOOOOOODOOODOOODOOODOOO
gobooooooooooooooooooooobooooOoooooOooOoooOoobOobooboOobOobOoOoobooOoo
gbooooocoooooboooobooooooobooobboUoboobooboboboobooOooDOOobOOobOobOOobOooo
goboooooooooboooobooooooooobobooooboo0oooOoooooOooboOoOoOoboOobOoobboOooboOoo
gobooooboooooboooobodoooboooobobooooboooooooooboobooboooobooboOooobooOoon
oooooooooooooooooo

O0o0oO0oooOoo0.0500 00100000 DO0ODOOOODUDDOOOOUDODODO0OOOOOODOOOOOOD
goboooobooooobooooooboobooboobooboobooooobooo

goboooooboooboobooooooooboooooboooobooboooon

1. 0000000

Dad000000000*0WelchDOODODRODO t.test(x,y)r?®
Ob0OOO0O0OO0D0O0O0OO0O00O0O0O0OWicoxonOJOOODOOOROO wilcox.test(x,y)O
2.0000000000000000000RO0 prop.test()D

31 J0O00ODOoOoO0oOO FOO

00000000000000000000000000 XO0YOOOooooooonO nOOOOOOOOOO
gobooobooobooobooooboooooo

O000000X0YOOOOO SX<-var(X) O SY<-var(Y) OOOOOOOO0OOOO0OOO0O000O0 SX>SsyOoOo
00000000 Fe<-SX/SYO O 1000 DFX<-length(X)-100 2000 DFY<-length(Y)-10 FOOOODODO
O00000O00ooooooO 1-pf(FO,DFX,DFY) OO0 0OODO0OOOOFOOOOOOOOOOOvar. test(X,Y)
gobooobooooooooooooooOooboOoobooO0oOoXooooooooo cooooocobooooXxoo
00000000oooooO0ooooooooooooooooooO0oO000var.testX~O) 0000000

2400000000000 0000000000000000000O0Ofmsb000000 pvalueplot() 0000000000000

*25 shapiro.test() O Shapiro-WikD D 0000000000000 000000000O0O0OOOOOO

26000000000 000000000000000000 FOOOOOOOOOO0O0O0O00000000000000000000000
00ooooo0oo0oo0oo0ooooo0oooo00oo0ooooo00oo0LU0o0o00oo00oD0DUO0o0O0D0DUOoO0OFk
0000 20000000000000000t00000000 WelchDOOOOOOODODOODOOOOOOOODODOOOOOOODOOD
00oooo00b00o0O00000bO0000b00O00000000O00000FOO0DOO0OO00OO0O0DOO0O00OO0OO0O0O00DOO
O WelchDOOODOOOOOODOOOOO
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RemdrO0O0OO0000000DO0OO0OOO0OOOO0 FOOOOOOOODOOO (Groupvariable)D OO0 cO0O0O
000 (Responsevariablep 00 XOOOOOODOODODOOOOOOOODOOOO0OOOO0OOOOOOOOODOO
00000000 yloooooOoOooooOoooOo0ooO0O0oODO0O0DooOOo0o0ooOOoODooOooUooOOoO
000000000000 00000000000000 100000 OKMsurveyOOOOMmMOOOOOO
O0O0000O0O00000000000D00000000D00000 sexOOOOOOOOO HeightODOODO
[OK] ObOooOooOoOobOO00oO0O0O0OO0LO0O0DO0DO00DLO0O0OD0ODO0U0DO0OODOD0ODOOODOOODODOO
oooooooooooooboooooooooboooobobooooboooobooooboooobooboOoooboboooo

ooooooooooooo
S /

3.2 WelchOQoQoQoo toag

to = [E(X) - E(Y)I/ VSx/Nx + Sy//v 0000 ¢0 t0000000000000000000¢0000000
_ (Sx/nx + Sy/ny)?

{(Sx/nx)?/(nx = 1) + (Sy/nv)?/(ny — 1)}

ROODOt.test(X,Y,var.equal=F) OO 0Ovar.equal 0000000000000 OO0OOOOO Welch
00000000000 000 t.testX,Y) OOOOOUOOO XOOOOOO coOOoOooOoUoOoUoOoUOO
t.test(X~CQ) 00 0O0OsurveyO OO0 ODO0ODOOOODODODODOOOODDODOODDODOODDODODODOOODDOO
t.test(Height ~ Sex, data=survey) 0000

¢

RemdrO0OO0O0OO0O0O0OO0O0O0OO0DOO0OO0DO0OOOO0t000000000000 (Groupvariable)DOO cOO
0000 (Responsevariablepn 00 X0OODODODODOODOUOOODOODOD0DD0O0DO0O0DO0OODO0OO0DOONoODODODO
000000000000 00oooo [OK]OooooooooUooooooUoooooooDooUoUoDOoOo
0000000000000 000000 ¢10000000000000000000000O00000O000
000000o0oo0oo00o0o0o0ooooooUo0ooooooUoUoOO0oVIUoUOoO oKoOooOoo
ooobooboooo0O™surveyOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOODOOO
000000 SexUDOOOODOD Height 00 0D0O0OO0OOWelchOODOOO 200 t000000OO0OO
ooooooooooooo

/

gbooooooodobdobooooooooboooooooobOobobooOoooobOOobOobOOobObObOobOboUooo
00*?0000000000000 stripchart() 000000000000 000O00O0O0O0OOOOOOOOO
00000000000000000000000 V <- rnorm(100,10,2) O W <- rnorm(60,12,3) OO00000
oo

X <- c(V,)
C <- as.factor(c(rep("V",length(V)),rep("W",length(W))))
X <- data.frame(X,C)

ooo

x <- stack(list(V=V,W=W))
names(x) <- c("X","C")

0000000000000 0000D000000000000000000000000000 RemdrOOO00OO
gobooooo

*27RO000barplot() 0000000000000 Oarrows()) 0000000000000
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stripchart(X~C, data=x, method="jitter", vert=TRUE)
Mx <- tapply(x$X,x$C,mean)

Sx <- tapply(x$X,x$C,sd)

Ix <- c(1.1,2.1)

points(Ix,Mx,pch=18,cex=2)

arrows (Ix,Mx-Sx,Ix,Mx+Sx,angle=90,code=3)

33 D000O0OUoDbDoobooouooboooo

gooboooooboooboboobobbooobobooobbooobDbooobboUbDbooUobOboooboo
gooboboooobooobobooobtboobobUooobobOoooDbbo0obD bbb bbb ogboboo
gooobooooo

0000000000000 D0Opairedt 00 0000000000000 O0DDOODOODOODODODOOOO
000000 0000000000000 0OU0O0O0DODROODUOODDODOO XO YO paredt0 0000000
t.test(X,Y,paired=T) OO0OD0OOCOO0ODOOO t.testX-Y,mu=0) OOO0O0O0O0O

surveyO O0OO0O0OOO0OO0OO0OOOOOOOOOOOOODOOODODODOODODODOOOOOOOOOOOOOOOOORO
0000000t.test(survey$iir.Hnd, survey$NW.Hnd, paired=TRUE) 00000000000 OO0OOOCOO
g0ooo00oooo00oo0ooooooDoo0o00 1lemb0DO00DOOOOOO0 1IcmOOOODODOOODOOOO
0000000 1lemOUOODO0OO0OOOOO0OOOOOOOOOOOOOOOOOODOO

Diff.Hnd <- survey$Wr.Hnd - survey$NW.Hnd

C.Hnd <- ifelse(abs(Diff.Hnd)<1,1,ifelse(Diff.Hnd>0,2,3))
matplot(rbind(survey$Wr.Hnd, survey$NW.Hnd), type="1", 1lty=1, col=C.Hnd, xaxt="n'")
axis(1l,1:2,c("Wr.Hnd","NW.Hnd"))

RemdrOOOCOOOOO0OO0ODOOO0OOOOOODtOO0DOOO0OO0ODOOO0OOOO0OOOWr.AndODOODOODOO
ONi.Hnd OO ODO[OK] D00O00D00000000000000000D0000000U000S% 00000
goooooo0o0oO0o0o0o0o0ooooUooooooooooooooooooooooo
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o D
Remdr0 0 0000000000000 O0ODODOOOODOOOO0OOOODDOOOOODOO0OO0OOOOOO0ODOOOOOO
00000000 datasets 00 0000000000000 D0O0OO infert 000000000000 D00OODOODOO
Trichopouloset al. (1976) Induced abortion ans secondary infertily.J Obst Gynaec83: 645-6500 0 0 0000000000
gobooooboobooo

0000000000000000D00000000 1000000000000000000000DO00DOOO00DODO0O0
0000000000000000000000 2000000000000000000000000002000000
000000000 8300000000000 0UO0O0LO00DLOO0O00OOO00 7400000000000 DDOOO
00000000002490000 2480 000000000000 OOOOOOOOUOOOUOOOODDODOOOD 200
gopoooooom™

goboooboooooooooobo

education: 0000000003 0000000

age: 0O

parity: 0O0O0nOoodnO

induced: 00000000 COOODOOD20 20000
case: JOJOOOO 100006

spontaneous: 0000000000020 20000
stratum: OOO00000O0O0DOO

pooled.stratum: 0O OOOOO0O

(1)0o00000000000D000000D000DO000000000DO00000@E)DOOD0O0D0O0DO0O0DOO0O0OO
0000000000000 0000000b00D000000O00O000 5% 0000

J
oobooooooooooooooooooooooooooooooooooooooooOODODOODOOOO0OO0
0000000000020 0000000000000000000DO00O0O0DOO0OODO0ODDOOODODOO
000000000000 0200000000 2000000000000000000000000000ODOO
00ROOOOODOOOOODOOOOOOOOOOOOtOOODODOOOOOOOOOOOOODOO

(1) t.test(spontaneous ~ case, data=infert)*?8

2 t.test(infert$induced, infert$spontaneous, paired=TRUE)

*ZBDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDvar.test(spontaneous~ case, data=infert) 00O OO
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Remdr0 0 0O0OO0OO0OO0O0OO0OO0O0OO0OO0OO0OOOOOOO0OOOOOOOOOOOOOOOODOOOOOOOOoOOO
00000000 DO0OD0O000000D0OD0O000DO0D0O case000OO0OO0OO0O0OODODODOODO caseld
0dooooooooooboboobbooooodoodooooooooooooooooDooooooooo
000o0oo0oO<00ooo>0b000ddb group0 0000 DOOO0O0ODODODODOOOOODOOOOOOOO
O0o0000o000o0ooDo0ooooloodo0oo0ooooooooooooooomooooooog
group 0000000000000 OOOOOOOOOOOOOOOOOOOOOOOUOOO controlO1000
00 infertile 0000000000000 DOO0OO0O0OOMOODO0ODOODOOOOOOOOOOOOODO
000 spontanecus D0 0 M O0OO00OO0O0ODOO0ODOODODODOODDOODOODOOODOODOOOODOO groupd
00000000000 0oooooo00oooooooooooo,1,2000000000000O0OO0OOO
0000000000000 00000000000000000000 RemdrO0O0OO0OO0OO0OOOOOOOOO
00odoooooooooooooooooooooobooo0ooobooooooooDbooooooon
goobooooobooono

(1)00DO00DO0O0O0D0U0O00O0D0OU00O00O0 t00D000D0DmMO0OD0DD0UD00DO00OD0OUOONDODODOOOOoOQO
000000000000 000 group0 00000 spontaneous D00 [OK] 00 ODOO0ODOO WelchoO
0000 t00000000000@oo00o0oDoDooo000000000 FOOOOOOO0O0OO groupO OO0
00 spontaneous 000 0000000000000 0O0O0OOOOOO0O p-valueOOOOOOO20000
0d0ooOooooooooboooooO

(2000000000000 00000t0000000000000000 spontaneous0 00000000

induced 0000 [OK] OODDODOODO0ODODODOOODOOO
S /

3.4 WilcoxonOOQOQOQOGO

WilcoxonOOOOOOOODOOODOOOODOOOODOOOOt0o0o0ooooooooooooooooooooo
0000000000000 D00D000D0DO0OO00OOMann-Whitneyo UDOO0OOO0O0D0OO0OOOOODOOOOODOO
KendallD SO0OO00O0O00O00O0OO00O0O0O0ORemdrO 0 @M O0000000OO0DO0O0DO0O0ODOODO0O0DOOO0ODOO

bbobboooooooooooooooooooooooooooooooooOoooOOOOO0O0000AO0
O0OWilcoxonOOOODODOODOOODODODOODOODO

1. 00 XO0O0OOO X, %, Xn DOO00 YOOOOO YV, . Ya DO OO

2.0000000000000000000000000000*2°00000 X[4],Y2[2], Y173, ..., %[N] 00O
000000 N=m+nD

3.00000000000000000000000000000000000000000000000000
000 (N+1)N/200000000000000000000000000000000000000 XOO
OOooooO0oO0oo

4. XO0O00O0O x0i=12.. mMO000ROOOOOXOOO0OOODO

Rx :Zm:Ri
i=1

0000RO0D0D00000000000000000X0000YOOO000000000000 HOO
00000000000000000000000000000000RO000000000000000
oo+

*2900000000000000000

Voo O000000000 ROIDODODOOO0OODODODOOO0O0O00 WilcoxonDODODODODOOOOOR,RyOOODDDDOUy =
mn+n(n+1)/2-RyOUy =mn+m(m+1)/2-Rx 00 00Ux 0 UyOOOOOODO UOOOOODODOOOOOOOOOOOMann-Whitney
0UOO00000000Ux-UyO0O0O0O0OD0O000000 KendallD SO0O00000000000000000000000000000
00000000000000000000000000000000000000000000000000000RD00WilcoxonO O
00000000000000000000000000000000000 RSOODO0000O00002*(1-pwilcox(RS,m,n)) 0000
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p <- (40+20)/(100+100)

q<- 1-p

Z <- (abs(40/100-20/100)-(1/100+1/100)/2)/sqrt(p*q*(1/100+1/100))
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Remdr0 0 M OO000000000ODOO0O00DO0OO0DO0OO0DO0O00DOOsurvey D000 ODO0O0OODmMOODOO
0000000000000000C000000000000000O000000 SexOOOOOOO0O W.HNdOO
0000000000000 0000O000o00D00DDO00DO0O00OO[oOK] ODOoooLOoooDoUDoOooOo

4 30000000000000

3000000000000 000 200000000000000000O0000O0OO0O0OONOODO 20000
ooooooo ,.C0000001000000 1000000000000 0O0O00O0UOO0DOO0DOOOO0ODOD

700 zZ00000000000000000000000000000000000000000000000000000000000
p1>p 0000000 Z>000000 pr<p000 (@000 Z<000000000000000OODODODDOOOOOOOOOO
000 Zz>-00000000000000 20000000

_ 191 — ol = (1/ng + 1/n2)/2
VPa(l/ng + 1/n2)
000000 Z0000000000 97.5%00R0O00 gnorm(8.975,0, )0 00000000000 5%00000000000

8 0QO000000000000000000000000000000000000000000000000000000000000
goooooooooooo

z

20



00005%0000000000300000000000000000 1000000000000000000
00000 100000 5%00000000000000000000

0000000000000 00000000000000000000000000000000000000
0000000000000 00000000000000000000000000000000000000
(Kruskal-Wallis)0 DO 00000000

000000000000 5%0 20000000000000000000000 10000000000000
00000000000 100000000000000000000000000000 5% 0000000000
0000000000000 0000O00

41 OO0OODOOOO

gobooooboooooooobogoooooobobooooobooooboooobboooboooOoboboOOoBoboOoo
goboooooooooooooooooooobooooOoooooOoooooOoobOoOooboOobOobOoOoobooOoo
gobooooboooooobooooooooooooooobOOooobOOoOoboOoOoobOoOoOobOobOobOoOoobooOoo
gobooobooooooooo

0000000000000 X,Y,Z00o0o000000000000000000000000C00O0O00O0O0DBO

00000000 0000DO000o0o0ooog
IDOO 00 (VG) OO (cm)MEIGHT)

1 X 161.5
2 X 167.0
gogo
22 4 166.0
ooono
37 Y 155.5

gobboooboooboooobOboOoOoOoboO0O0OOOCO0OOEEIGHTOOOOOOOOODOOOvVGOOOODOOOO
0oo000oo0o000oo0o0o0oo00o0oo00ooo0o0ooRO0DO0DOOO0OO0OO0OOO0O0OOO0O00OO
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Df Sum Sq Mean Sq F value Pr(>F)
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00000 10000000000000 (mmHGOO)OOODO 5,8,3,10,1% 0000000 100000000
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bpdown <- data.frame( h
medicine=factor(c(rep(1,5),rep(2,5),rep(3,5)), labels=c("OOOOO","O0CO","OO™)),
sbpchange=c(5, 8, 3, 10, 15, 20, 12, 30, 16, 24, 31, 25, 17, 40, 23))

summary(resl <- aov(sbpchange ~ medicine, data=bpdown))

library(multcomp)

res2 <- glht(resl, linfct = mcp(medicine = "Dunnett"))

confint(res2, level=0.95)

summary (res2)
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total <- c(100,80,30)

epos <- c(60,30,8)

prop.test(epos,total)

pairwise.prop.test(epos,total)

orisk <- c(4,2,1)

prop.trend.test(epos,total,orisk)
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cor.test(survey$Height, survey$Wr.Hnd)
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Pearson’s product-moment correlation

data: survey$Height and survey$Wr.Hnd
t = 10.7923, df = 206, p-value < 2.2e-16
alternative hypothesis: true correlation is not equal to 0
95 percent confidence interval:
0.5063486 0.6813271
sample estimates:
cor
0.600991
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000000000000 000000000000D0D000000000000r =0.60095%00000
[0.50,0.69]00 0 0*®0p-value < 2.2e-160 00000 22x10¥ 0000000000000 0000000
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000000 0.7000000000000MI0.400.700000000M0.200400000000000000
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000000000000 D000D00000000000000ROO0O0O0000000O000000OO0MASS
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males <- subset(survey, Sex=="Male")
cor.test(males$Height, males$Wr.Hnd)
females <- subset(survey, Sex=="Female")
cor.test(females$Height, females$Wr.Hnd)
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y <- c(0.24, 0.33, 0.54, 0.83, 1.32)
X <- c(0, 1, 2, 5, 10)

# 0000000000000

res <- Im(y ~ x)

# 0000000

summary (res)

# 000O0ODOO0O0ODOOOOO

plot(y ~ x)

abline(res)

# 000 0.67000000000000O
(0.67 - res$coef[1])/res$coef[2]

ooooooooooooo

~
Call:
Im(formula = y ~ x)
Residuals:
1 2 3 4 5
-0.02417 -0.04190 0.06037 0.02718 -0.02147
Coefficients:
Estimate Std. Error t value Pr(>|t])
(Intercept) 0.26417 0.03090 8.549 0.003363 **
X 0.10773 0.00606 17.776 0.000388 ***
Signif. codes: 0 ' *** @.001 ‘ ** .01 * 0.65° ." 0.1° ' 1
Residual standard error: 0.04894 on 3 degrees of freedom
Multiple R-squared: 0.9906, Adjusted R-squared: 0.9875
F-statistic: 316 on 1 and 3 DF, p-value: 0.0003882
. )

00000000 a=026417000000 b=0107730 0 000000000000000000 98.75%
(098750 000000000 OAdjusted R-squared 00000000 Op-value D00 ODODOD0OODOOOOOOO
gobooooboooobooboooooboooobooooboOoboOoOoOooOoOobOU0oObobOOoOboOoboDObOOoDObo
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res <- Ilm(Wr.Hnd ~ Height, data=survey)
summary (res)

Remdr0 000000000 “000000:" 0000000000 surveyOODOOOsurveyOOOOOGOO
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0000000000000
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0000 (h-2)0t000000000000MO00000 0000000000000000000000000
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000000000
ROODOOOOO Remdr000000000000000Pr(>|t)) 00000000000000000000
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to(b) =
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goboooobooboooboooooooooboooobooooboOo0oooO +0ObOO00O0OOO0OOOOObODOOOODOO
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0000000000000 0000000ROOO0OOO0OO0DO0O00O0O0DO0O0O0OO0D0O0DODO MASSOODO
goboooboooooooooo

res <- Ilm(Wr.Hnd ~ Height + NW.Hnd, data=survey)

summary (res)

RemdrO0 O O000MO0O0D0O0O0D0MODO0DOO0ODOO 0000”000 Wr.ANdDOODOOOD OO
oo"00o HeightDDDDDDDDDDDDDDDDI:IEII:IDDDEI NW.HndOOOOOOO0O0O0000
[OK] ObOOooOoOooUOooUoOooOoOooUOOooOoOooOOooDOoooDOoooo

goboooobooooooooooobooooboobooooboOooboboOooObOobooOoboObLObObobOOoobooOOoo
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sdd <- c(0,sd(res$model$Height),sd(res$model$NW.Hnd))
stb <- coef(res)*sdd/sd(res$model$Wr.Hnd)
stb

RemdrOOO0OO0O0OOO0OO0ODOOOOODOOOO0OOOOODOODOOOODOODOODOODOOOOODODODOO
0000000000000 00O00O00O00D0D [Submi 00DO0O0O0DO0ODOOOODODODODOOOOODO
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var(e) = var(Y)(1 - r?)

Ogoooooooooooooo
r? = 1 - var(e)/var(Y)
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000000000 0O0zoneOppb0 000000 ODOMSolar.ROODODODODODOODO 8:0000 12:000 00 40000 O
770000 00000000000D00000000O0 LangleyO OO0 D000 M Windd LaGuardiad OO0 7:0000 10:00
0000000000000 @MTempO 000000000 @MMonthd OMDayl 000000000000 O0OO0O0OOOO
pooooooooooooooOooo

ROOODOOOOOOOOOOOOOOOO

plot(Ozone ~ Solar.R, data=airquality)
res <- 1lm(Ozone ~ Solar.R, data=airquality)
abline(res)

summary (res)

Remdr0 OO0 00O0O0O0OMOO0O0O0O0O0O000mMOOOO0O0OO0OO0OO0O0O0O0O0OO0OO0OO0OO0OO0OO0OOoOOoO.0oo
O00O0Odatasets 00 0000airquality D0 00000000000 DO0OO0OO0OOOOOairquality 00
0000000000000 0O0O00UDODOODODUU0.00000OXx0O00 Solar.ROyO OO Ozone OO
0000000000000 00000000O0D [OK]ODODODDOoUDOoODoODODmMoooDooooooooooo
0000000000000 00000 0zoneOOOODOOOODO Selar.ROOODO OKOOODOOODDODOOODO

ROOODOOODORemdrO0O 00000000 DOOUOOOOODOODOODOO

~

Call:
Im(formula = Ozone ~ Solar.R, data = airquality)

Residuals:
Min 1Q Median 3Q Max
-48.292 -21.361 -8.864 16.373 119.136

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) 18.59873 6.74790 2.756 0.006856 **
Solar.R 0.12717 0.03278 3.880 0.000179 ***

Signif. codes: 0 ’***’ 0.001 '**’ 0.01 '*’ 0.65 ’.’ 0.1’ ' 1
Residual standard error: 31.33 on 109 degrees of freedom

(42 observations deleted due to missingness)
Multiple R-Squared: 0.1213,Adjusted R-squared: 0.1133

F-statistic: 15.05 on 1 and 109 DF, p-value: 0.0001793
\_ J

00000000 Ozone= 18599+ 0.127-SolarROOCD0DOOO0OOOO FOOOOOO pO0O 0.000179310
0000000000000 0000000UO00000D0000O0O00 Adjusted R-squared 000 0.1100
O0o0o0o0o0o0o0o0oUoO0ooo0Ooo0D 10%WoOoO0000o00o0o0oUo0oUo0ooULOoOoooUo
oooo

gooooooo00ooooOo0oO00oOooOOo0000OoOO0000ODOCO000000OwWindOODOO Temp OO
00o00o0o000ooo0o0ooOo00oo0o0oooo0o0ooROODOOOODOOOOOOOOODODOOOOOOO
0000000000000 oo0o0ooooo0ooooe0%oO000oooooooonooon

mres <- 1lm(Ozone ~ Solar.R + Wind + Temp, data=airquality)
summary (mres)
AIC(mres)
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74 00000 (ANACOVA/ANCOVA)
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000000000000000000000

(20000000000y00000000000000 B =R00000000000008008=(SSwyL+
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http://phi.med.gunma-u.ac.jp/grad/sample3.dat 0000000000000 0OOOO00OOOOOOODOOOOOO
0000000000 (PREFJOOOOOOREGIONTI19900 0 1000 0000000000 CAR1990119890 000 10
000000000000 (TA1989119850 0 00 0000000000000 OD (DIDP1985)0 00000 DOREGION
0l0000o02000000000M@m

000000000000000000010000000000000000000 1000000000000000000
goooooooooOooooo®o

a00000000000000000000000000000D0000000000000000

- J
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sample3 <- read.delim("http://phi.med.gunma-u.ac.jp/grad/sample3.dat")
plot(TA1989 ~ CAR1990, pch=as.integer(REGION), data=sample3,
xlab="Number of cars per 100 households", ylab="Deaths by traffic accident per 100,000")
east <- subset(sample3,REGION=="East")
regeast <- 1m(TA1989 ~ CAR1990, data=east)
summary (regeast)
west <- subset(sample3,REGION=="West")
regwest <- 1m(TA1989 ~ CAR1990, data=west)
summary (regwest)
abline(regeast,lty=1)
abline(regwest,lty=2)
legend("bottomright",pch=1:2,1ty=1:2,legend=c("East Japan","West Japan"))
summary (1m(TA1989 ~ REGION*CAR1990, data=sample3))
anacova <- 1m(TA1989 ~ REGION+CAR1990, data=sample3)
summary (anacova)
cfs <- dummy.coef(anacova)
cfs[[1]] + cfs$CAR1990 * mean(sample3$CAR1990) + cfs$REGION

00

Deaths by traffic accident per 100,000

—e— East Japan
< 4 © -4&- West Japan
T T T T T T T
60 70 80 920 100 110 120

Number of cars per 100 households

O0O00DOO0OREGIONDOODODDOOOODDODOOODDDODOOOODDODO pOOOoO031O000ODOOO0OO
CARI90 00000000 ODODO TAI98 OO OOODODDOOOODODODOODOOD 5% 00000000000000
goboooooooooooooobooooboOoOoobOOoOooobooOooOooOoboOoooboOobooooo

East West
9.44460 10.96650
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library(MASS) O data(birthwt) IZIEISpringfieIdEI Baystate 1000000 1890 0000000000000 0OOOO
OO0o00o00o00o00o00o00oobo0oo0oo0oo0oo0oooooooooboooooO0oo0oooooooooOoooooooono

low DDDDDDDDDDDDDDDDDDDDDDD2.5ngDD1D

age OO

Iwt DDDDDDDDDDDDDDDD|b.|ZID1Ib.EIO.454kgEIDEIDEI

race 000000000 OOO0OOOOOOO

smoke O0OOOODOODOOOO

ptl ooooog

ht Oooooooooooa

ui go0o0o0oO0ooooboooooa

ftv Oo00o00o0oo0ooooOoooo

bwt ooooooo
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library(MASS)

data(birthwt)

birthwt$clow <- factor(birthwt$low, labels=c("NBW","LBW"))

birthwt$crace <- factor(birthwt$race, labels=c("white","black","others™))
birthwt$csmoke <- factor(birthwt$smoke, labels=c("nonsmoke","smoke"))
birthwt$cht <- factor(birthwt$ht, labels=c("normotensive","hypertensive™))
birthwt$cui <- factor(birthwt$ui, labels=c("uterine.OK","uterine.irrit"))

RemdrO0OD M 000MOOOOD0O0D0O00O00O00O0D0O00DMOODOO0DO0D0OooO0oOo0ooooDoooo
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000000000000 D00D0O00D 1000"white" OO 2000"lack" 00O 3000"thers" 0000
0000000[OK]OOOOODOO0DOOOsmokeOhtOui D00OO00O0D0OO0OOO csmokel chtl cui

oooooo
- %

00000o0o000oO0o00oo0o0oOoOo00ooO00oOoDROOOOOOOOD 200000000

res <- glm(clow ~ crace+csmoke+cht+cui+lwt+ptl, family=binomial(logit), data=birthwt)

summary (res)

oboooooooooooooooooooooooooooooooooooooOooOoOoOOOOOO000O0
OOO00ODONagelkerked RODOOOODOOOODO

require (fmsb)
NagelkerkeR2(res)
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RemdrO0 0 OO0 MOOO0DO0O0O0O0MOO0OO0O0O0O0OO0O0OO0O0O0O0OOOO clow (0O)OO0ODOOOOO
000000 clowdOOMMOOO crace+csmoke+cht+cui+lwt+ptl OO0 OO0 00000000 OOOOOOO
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ROODODODOOO Remdr0O0O0O0O0O0OO0DOOOOOOODOO

Call:
glm(formula = clow ~ crace + csmoke + cht + cui + lwt + ptl,
family = binomial(logit), data = birthwt)

Deviance Residuals:
Min 1Q Median 3Q Max
-1.9049 -0.8124 -0.5241 0.9483 2.1812

Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) -0.086550 0.951760 -0.091 0.92754
craceblack 1.325719 0.522243 2.539 0.01113 *
craceothers 0.897078 0.433881 2.068 0.03868 *
csmokesmoke 0.938727 0.398717 2.354 0.01855 *
chthypertensive  1.855042 0.695118 2.669 0.00762 **
cuiuterine.irrit 0.785698 0.456441 1.721 0.08519 .
1wt -0.015905 0.006855 -2.320 0.02033 *
ptl 0.503215 0.341231 1.475 0.14029
Signif. codes: ©® ’'***’ 0.001 '**’ 0.01 '*’ 0.05 .’ 0.1’ ' 1

(Dispersion parameter for binomial family taken to be 1)

Null deviance: 234.67 on 188 degrees of freedom
Residual deviance: 201.99 on 181 degrees of freedom
AIC: 217.99

Number of Fisher Scoring iterations: 4

o /
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X <- matrix(c(12,9,8,10), 2, 2)
# x <- matrix(c(12,8,9,10), 2, 2, byrow=TRUE) is also possible.
chisqg.test(x)

\
RemdrO0O0 M O00MOO0D0MWO0oO0O00000000O0O0O0OO0OOLO0OOO0DOO0ODOODOOODOO
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0000 135x100/200=675 135x100/200= 675
oooo 65x 100/200= 325  65x 100/200= 325

000000000000 00oooooOooooOooooao
X2 = (80— 68)7/67.5+ (55— 67)7/67.5 + (20— 32)/325 + (45— 33¥/325 = 13128..

0000000000000 00000000 1-pchisq(13.128,1) 0000000 0.00029.00 000000
500000000000000000000000000000O0000 S%0000000000000000

goooo
ROOODOOOO0OOOD 1000000000000000000O00O0

chisq.test(matrix(c(80,20,55,45),2,2))

RemdrOO M O00MOO00M 0000000000000 000O0O00DO00D00D00O0OD [OK]OoDOOO
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[MASSDDDDDD survey 00000000000 (Sex) 0000 (W.Hnd)ODODOODODOOOOOOODODOOODO ]
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require (MASS)
chisqg.test(xtabs(~ Sex+W.Hnd, data=survey))
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V(@) = {(N - ng)/(N — 1)}ny(my/N)(mp/N) = (mumengng) /{N*(N — 1)}
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require (MASS)

fisher.test(xtabs(~Sex+Smoke, data=survey))
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require (fmsb)
Kappa.test(matrix(c(12,2,4,10),2,2))

$Result
Estimate Cohen’s kappa statistics and test the null
hypothesis that the extent of agreement is same as random
(kappa=0)

data: matrix(c(12, 2, 4, 10), 2, 2)

Z = 3.0237, p-value = 0.001248

95 percent confidence interval:

0.2674605 0.8753967

sample estimates:

[1] 0.5714286

$Judgement

[1] "Moderate agreement"
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install.package (RcmdrPlugin.survival)
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library(survival)

print(res <- survfit(Surv(time,status)~x, data=aml))
plot(res,xlab="(Weeks)",lty=1:2,main="Periods until remission of acute myelogenous leukaemia")
legend("right",lty=1:2,legend=1levels(aml$x))

2000000000000000000O000O00OO0OODOO0OO

SSOQp00000000000000000000000000000000000000000 difftime() 000 IS0date) 0000
00000 19640 80 210000000000000 integer(difftime(ISOdate(2007,6,13),IS0date(1964,8,21)))/365.24 0
000000000000 12000000000000

46



records n.max n.start events median 0.95LCL 0.95UCL
x=Maintained 11 11 11 7 31 18 NA
x=Nonmaintained 12 12 12 11 23 8 NA
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library(survival)

time <- c(4,6,8,9,5,7,12,14)
event <- c(1,1,1,1,1,1,1,1)
group <- ¢(1,1,1,1,2,2,2,2)
dat <- Surv(time,event)
survfit(dat~group)
survdiff(dat~group)
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library(survival)
survdiff(Surv(time,status)~x, data=aml)
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survdiff(formula = Surv(time, status) ~ x, data = aml)

N Observed Expected (0-E)A2/E (0-E)A2/V
x=Maintained 11 7 10.69 1.27 3.40
x=Nonmaintained 12 11 7.31 1.86 3.40
Chisq= 3.4 on 1 degrees of freedom, p= 0.0653
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require(survival)
summary(res <- coxph(Surv(time,status)~x, data=aml))
KM <- survfit(Surv(time,status)~x, data=aml)
par(family="sans",las=1,mfrow=c(1,3))
plot(KM, lty=1:2, main="aml OOOOO0O0O0OOO0OOOOOOO™
legend("topright", 1lty=1:2, legend=c("CO","O000O"))
plot(survfit(res),
main="aml 0000000000000 OO0OO\nOOOOOOO9SOOOOO™
plot (KM, fun=function(y) {log(-log(y))}, lty=1:2, main="aml 00000000 OOOO")
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Call:
coxph(formula = Surv(time, status) ~ x, data = aml)

n= 23
coef exp(coef) se(coef) z p
xNonmaintained 0.916 2.5 0.512 1.79 0.074

exp(coef) exp(-coef) lower .95 upper .95
xNonmaintained 2.5 0.4 0.916 6.81

Rsquare= 0.137 (max possible= 0.976 )
Likelihood ratio test= 3.38 on 1 df, p=0.0658
Wald test = 3.2 on 1 df, p=0.0737

Score (logrank) test = 3.42 on 1 df, p=0.0645
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